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| IE | K 4 2 & |#£|70m0)|70m@| & & [10-X] x |gE
1 [ 71c] #&m &x FEEA 3 | 316 314 630 [ 21 | 6 10
2 [1oc| ma mx FREM 3 | 309 313 622 | 16 | 3 9
3 | 1p]| #w wu FREM 3 | 309 297 606 | 15 | 5 8
4 |3c| &8 BX FREM 3 | 300 301 601 6 | 0 7
5 |20 whx B FEEA 3 | 293 307 600 | 14 | 3 6
6 (98| mE @ TERH 2 | 296 299 595 | 13 | 2 5
1 [nc| BE =@ FREM 3 | 296 296 592 | 13 | 2 4
8 |9c| &= #a FREM 3 | 299 288 587 6 | 1 3
9 | sp| agm mx FEREM 2 | 295 284 579 9 | 5 2
0 [sc| m# x= FREM 3 | 300 271 571 12 | 4 1
i [eo] nkremk | FEEw 3 | 291 278 569 | 12 | 3

2 [oa] ®2 = e | 3 | 286 280 566 9 | 2

13 [6c] e s FEEM 3 | 293 265 558 | 10 | 1

14 [ 48] *n_x® [mussreon| 2 [ 28 276 557 7| 2

5 [3c| mp =% g a1 | 3 | 279 278 557 5 | 1

16 [11o] #E e FREM 2 | 283 272 555 9 | 4

17 |14 A G RUBE=HIDHE]| 2 271 2175 552 6 1

18 [12c]| wmm tm FREM 3 | 284 267 551 9 | 3

19 [120] A&k AxA FEEM 2 | 293 255 548 7| 2

0 [s5al =2 = 2B 3 | 281 267 548 3 [ o

21 [4p| mm =w FEEA 3 | 2m2 274 546 9 | 5

2 | 38| wR zZr |[#wsstromn| 2 | 213 266 539 4 |

23 [ 6] wm #wA TERY 3 | 262 274 536 6 | |

24 [1ap| ek m FREM 2 | 272 257 529 D

% | 18] ®%& mE |[musstron| 2 | 253 273 526 7 |

26 [8a] =% @ e | 3 | 268 257 525 [ 12 | 4

21 [ 6a] ®mm x= 2E7 2 | 263 262 525 9 | 3

28 [10A] Bl gk eumi | 3 | 263 257 520 8 | 4

29 [ 3o =0 == FEEM 3 | 263 257 520 5 | 2

20 [2a] =m B 2B 3 | 251 267 518 4 |

st [ 1Al wmu me 2E7 3 | 269 243 512 o | 4

2 | 28| @k REB |[mwsstprom| 2 | 257 253 510 4 |

33 [ 78] fmw my TERY 3 | 247 258 505 4 | 3

s o] ®m £A = ¥ [ 3] 23 264 503 7| 6

5 | 17a] HE mx 2E7 2 | 256 246 502 5 | 3

36 | 2c| s #x 3 | 3 | 251 248 499 6 | 2

s [ sal wo m2 M7 3 | 257 237 494 6 | 3
8|10 =# #m FREM 3 | 233 261 494 6 | 2

39 [5c| #R BX B o | 3 | 255 239 494 4 | 1

0 [uuc| B2 =k FREM 3 | 234 240 474 3 | 2

s oo mm & FEEM 2 | 247 225 472 2 | 2

2 |ns| #@ &8 = ¥ | 3| 234 221 455 1 [

3 [9o]| Tm mme FEEA 2 | 234 213 447 4 | 1
NS M3 3 | 217 230 447 4 |

% [ 4c| weEAm B 1 | 3 | 24 189 430 5 | 2
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B | aE& | K& 2 & |zE|70m®)|70m@| & & [10-X] X [gE 7%,
16 [13A] EBEAS [mRusstron]| 2 | 198 225 423 3 [ 0

71 s8] T5 = FERe | 2 | 22 200 422 2 [ o

18 [ a] Em w6 wAmE | 3 | 191 209 400 5 [ o
wlic|] =& ® B | 3 | o201 198 399 2 [ o

0 [12A] %5 wmtE [musstron| 2 [ 205 180 385 0o [ o

51 [ ]| #m ma = x || m 190 367 4 | o

2 [138] #® # B | 3| 215 100 315 1o

53 [ 58| we #E [Aussrceon| 2 | 136 112 248 2 [ o

54 | 50| mm s Fgzm | 3 | 183 61 244 2 | 2
ZFOER

B | aE& | K& 2 & |zE|70m®)|70m@| & & [10-X] X [gE %,
1 [ 58] mm st [musstron| 3 | 299 282 581 8 [ 2 10
2 [ 10| ma =e& Fgzm | 3 | 283 279 562 8 [ 0 9
3 [sc| 2 xmeEx £ & | 3| 289 269 558 5 | 1 8
4 | 48| mmmesE gumis | 2 | 278 279 557 6 | 1 7
5 30| Ak o FgEm | 2 | 293 260 553 8 | 1 6
6 [s5c| =% sz Fere | 2 | 287 253 540 HE 5
AENELEIE A 3 | 249 278 521 EE 4
s 18] &m & gumis | 3 | 255 266 521 HE 3
9 |20 ma =xm Fgzm | 3 | 245 275 520 6 | 1 2
0W]1cC MK BE | RUBBLIDE]| 3 260 254 514 4 2 1
n|e6al ¥m =z mumis | 3 | 246 264 510 9 | 4

12 | 28| mERET gumis | 3 | 257 250 507 9 | s

13| 7a] —=@ex mumis | 3 | 239 267 506 6 | 0
AEE A 2 | 246 249 495 5 |

15 | 88| @ &Ir [musstrom| 3 | 262 231 493 5 | o

6 | 1a] mmmmp A 3 | 218 273 491 6 | 4

17 | ac| »w B Fexe | 3 | 25 234 489 HIE

8| 8o| mE Bx Fgzm | 2 | 251 236 487 6 | 2

19 | 78| xw #% |swsstron| 3 | 235 249 484 2 | 1

20 [4p] rwm sz Fgzm | 2 | 228 251 479 3 |

21 [6c| % @8 g 2 | 3| o5 226 471 3 | 1

221 2cC KiE EH |RUBHELHI,DOHF]| 3 224 246 470 2 0

3 [sal wo mz gumis | 3 | 221 232 453 5 | 2

2# [ so| aE s FgEm | 2 | 215 234 449 5 | 3

% [sc| mx gt |musstrom| 2 [ 259 189 448 3 | 1

26 [ 3] =& s gumis | 2 | 209 225 434 EE

21 [ 68| #® #n |nussrrom| 3 [ 206 222 428 1] o

28 [ 8| nmsen FgEm | 2 | 215 199 414 3 [ o

29 [1c| =m zx g o2 | 2| 203 210 413 K

30 [5a] =E wm@ A 2 [ 193 218 411 1] o

3t [ 6o s =an FgEm [ 2 | 182 187 369 1] o

2 [3a] mmzsar A 3 [ 199 146 345 1] o

3| 70] e s Fgzm | 2 | 188 154 342 3 [ 1
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